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Werkblad: Delen door 8. Wat is het goede antwoord?

Deeltafels

l'64:827 2.72:82? 3.72:82? 4.80:82?
Wisis)(z) (12)(3)0e) (9)(1)(3)(2)  (1)(3)(0)(2)
5'24:82? 6.48:82? 7.32:82? 8.40:82?
Waa)3) (se)(a)la) (a)(12)(3) (s)(3)(2)(1)
9'56:8=? 10.32:82? ll.72:8=? 12'8:8=?
EIEIEVEIINENEHENEVINENCHEDIEINNENENIENC)
13-64:8=? 14.64:82? 15.56:82? 16.80:82?
Wlsi2)(3) (12)(3)0s) (U2(703) (3012
17.32:8=? 18.48:82? 19.16:82? 20.40:82?
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Werkblad: Delen door 8. Wat is het goede antwoord? |
ANTWOORDEN

Deeltafels

1.

64 :8="7

SOOI

5.

24 :8=7

SIEYOIE

9.

56:8=7

DIGIENEY

13.

64 :8="7

SIOIENE)

17.

32:8=7

DIEYENT)
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2.

12:8=7

SIENENO

6.

48 :8=7

SIOIENEY

10.

32:8=7

ICHENEY

14.

64:8="7

BIIOIO

18.

48 :8=7

BIOIEYE)
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3.

72:8=7

SNENIENEY

1.

32:8=7

KENENE)

11.

72:8=7

SNOIENEY

15.

56:8=7

SIEVGIE)

19.

16:8="7

DIOICHEY

4.

80:8=7

EENEDIEY

8.

40:8=7

DICNENEY

12.

8:8=7

DI

16.

80:8=7

DIEDIEVIEY

20.

40:8=7

DIDIOIEY



